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QUESTION 1

Given the following tables: TABLEA EMPIDNAME 

1 USER1 2 USER2 

TABLEB 

EMPID WEEKNO PAYAMT 

1 1 1000.00 

1 2 1000.00 

2 1 2000.00 

and the fact that TABLEB was defined as follows: 

CREATE TABLE tableb (empid SMALLINT, 

weekno SMALLINT, 

payamt DECIMAL(6,2), 

CONSTRAINT const1 FOREIGN KEY (empid) 

REFERENCES tablea(empid) 

ON DELETE NO ACTION) 

If the following command is issued: 

DELETE FROM tablea WHERE empid=2 

How many rows will be deleted from TABLEA and TABLEB? 

A. TABLEA - 0, TABLEB - 0 

B. TABLEA - 0, TABLEB - 1 

C. TABLEA - 1, TABLEB - 0 

D. TABLEA - 1, TABLEB - 1 

Correct Answer: A 

 

 

QUESTION 2

If DB2 detects a deadlock between application A and application B (each waiting for a lock held by the other one), what
action will DB2 take? 
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A. Rollback the transaction in both applications. 

B. Rollback the transaction in one of the two applications. 

C. Decrease the lock timeout value for both applications, thereby causing a lock timeout situation. 

D. Send a message to let the administrator know of the situation and decide which application or applications should be
terminated. 

Correct Answer: B 

 

 

QUESTION 3

Given the following table: 

CURRENT_EMPLOYEES 

EMPID INTEGER NOT NULL 

NAME CHAR(20) 

SALARY DECIMAL(10,2) 

PAST_EMPLOYEES 

EMPID INTEGER NOT NULL 

NAME CHAR(20) 

SALARY DECIMAL(10,2) 

Assuming both tables contain data, which of the following statements will NOT successfully add data to table 

CURRENT_EMPLOYEES? 

A. INSERT INTOcurrent_employees (empid) VALUES (10) 

B. INSERT INTOcurrent_employees VALUES (10, \\'JAGGER\\', 85000.00) 

C. INSERT INTOcurrent_employees SELECT empid, name, salary FROM past_employees WHERE empid = 20 

D. INSERT INTOcurrent_employees (name, salary) VALUES (SELECT name, salary FROM past_employees WHERE
empid = 20) 

Correct Answer: D 

 

 

QUESTION 4

Which of the following is used to create and debug user-defined functions? 
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A. SQL Assist 

B. Control Center 

C. Command Editor 

D. Developer Workbench 

Correct Answer: D  

 

QUESTION 5

Given the following queries: 

SELECT c1 FROM tab1; SELECT c1 FROM tab2; 

Which of the following set operators can be used to produce a result data set that contains only records that are not
found in the result data set produced by each query after duplicate rows have been eliminated? 

A. UNION 

B. INTERSECT 

C. EXCEPT 

D. MERGE 

Correct Answer: D 

 

 

QUESTION 6

Which of the following is NOT a difference between a unique index and a primary key? 

A. A primary key is a special form of a unique constraint; both use a unique index. 

B. Unique indexes can be defined over one or more columns; primary keys can only be defined on a single column. 

C. A table can have many unique indexes but only one primary key. 

D. Unique indexes can be defined over one or more columns that allow null values; primary keys cannot contain null
values. 

Correct Answer: B 

 

 

QUESTION 7

A "trusted" client needs to communicate with a server that has been configured to use CLIENT authentication. Which of
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the following will be used to verify passwords? 

A. User ID/password file 

B. Communications layer 

C. Client applications 

D. Operating system 

Correct Answer: D 

 

 

QUESTION 8

Which of the following statements allows USER1 to take away read access on the table ORG.TAB1 from USER2? 

A. REVOKE SELECT FROM user2 ON TABLE org.tab1 

B. REVOKE SELECT ON TABLE org.tab1 FROM user2 

C. REVOKE READ ACCESS FROM user2 ON TABLE org.tab1 

D. REVOKE READ ACCESS ON TABLE org.tab1 FROM user2 

Correct Answer: B 

 

 

QUESTION 9

Which of the following SQL statements can be used to create a DB2 object to store numerical data as EURO data? 

A. CREATE NICKNAME euro FOR DECIMAL (9,3) 

B. CREATE ALIAS euro FOR DECIMAL (9,3) 

C. CREATE DISTINCT TYPE euro AS DECIMAL (9,3) 

D. CREATE DATA TYPE euro AS DECIMAL (9,3) 

Correct Answer: C 

 

 

QUESTION 10

Application A wants to read a subset of rows from table TAB1 multiple times. Which of the following isolation levels
should Application A use to prevent other users from making modifications and additions to table TAB1 that will affect
the subset of rows read? 
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A. Repeatable Read 

B. Read Stability 

C. Cursor Stability 

D. Uncommitted Read 

Correct Answer: A 

 

 

QUESTION 11

Assuming table TAB1 contains 100 rows, which of the following queries will return only half of the rows available? 

A. SELECT * FROM tab1 FIND FIRST 50 ROWS 

B. SELECT * FROM tab1 FETCH FIRST 50 ROWS ONLY 

C. SELECT * FROM tab1 WHILE ROW_NUM 

D. SELECT * FROM tab1 MAXROWS 50 

Correct Answer: B 

 

 

QUESTION 12

Which of the following DB2 objects is NOT considered executable using SQL? 

A. Routine 

B. Function 

C. Procedure 

D. Trigger 

Correct Answer: D 

 

 

QUESTION 13

Assuming USER1 has no authorities or privileges, which of the following will allow USER1 to create a view named
VIEW1 that references two tables named TAB1 and TAB2? 

A. CREATEIN privilege on the database 
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B. REFERENCES privilege on TAB1 and TAB2 

C. CREATE_TAB privilege on the database 

D. SELECT privilege on TAB1 and TAB2 

Correct Answer: D 

 

 

QUESTION 14

Which of the following is the lowest cost DB2 product that can be legally installed on a Linux server that has 6 CPUs? 

A. DB2 Express Edition 

B. DB2 Personal Edition 

C. DB2 Workgroup Server Edition 

D. DB2Enterprise Server Edition 

Correct Answer: D  

 

QUESTION 15

Which of the following tools is used to view historical information about tasks, database changes, messages, and
notifications? 

A. Journal 

B. Task Center 

C. Control Center 

D. Activity Monitor 

Correct Answer: A 
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